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O FillNegaiveMMC O O OO OOD0OUOOO0OO0DOO,00000000.

QSUMPN(i,k) = 1.0/
{0.75 * [max (0.0, ps(i — 1, k))
+max(0.0, ps(i + 1,k))
+max(0.0, ps(i,k — 1))
+max (0.0, ps(i, k + 1))]
+0.25 * [max(0.0, ps(i — 2, k))
+max (0.0, ps(i + 2, k))
+max(0.0, ps(i, k — 2))
+max (0.0, ps(7, k + 2))] } (B.1)
DQFILL(i,k) = —min(0.0, ps(i, k))
+max (0.0, ps(7, k))
%{0.75 * [min(0.0, ps(i — 1, k)) * QSUMPN (i — 1, k)
+min(0.0, ps(i + 1, k)) * QSUMPN (i + 1, k)
+min(0.0, ps(i, k — 1)) * QSUMPN (i, k — 1)
+min(0.0, ps(i, k + 1)) * QSUM PN (i, k + 1)]
+0.25 % [min(0.0, ps(i — 2, k)) * QSUM PN (i — 2, k)
+min(0.0, py(i + 2, k) * QSUMPN (i + 2, k)
+min(0.0, ps(i, k — 2)) * QSUM PN (i, k — 2)
+min(0.0, ps(i, k +2)) * QSUMPN (i, k + 2)] }
(B.2)
s(ik) = psli k) + DQFILL(i, k). (B.3)
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0000,00000000,0000 (G,k) = (M,N)00D000O000O00
00000000,0000000000000000000000. 000
0 (i,k) = (M,N)0O00OO00O0O00D000O000O000,0 (B.1), (B2) 00
(i,k) = (M—=2,N),(M—1,N),(M,N),(M+1,N),(M+2,N), (M, N—=2), (M, N —
1),(M,N+1),(M,N+2)000000 DQFILL(G,k)=0000.000900
0 DQFILL(i,k)000000,

DQFILL(M —2,N) = 0.25% p,(M — 2, N)ps(M,N) « QSUMPN (M, N),

(B.4)

DQFILL(M —1,N) = 0.75% ps(M — 1, N)ps(M,N) * QSUMPN (M, N),
(B.5)

DQFILL(M,N) = —p,(M,N)

(B.6)

DQFILL(M +1,N) = 0.75% ps(M + 1, N)py(M,N) * QSUMPN (M, N),
(B.7)

DQFILL(M +2,N) = 0.25% py(M +2,N)py(M,N)* QSUMPN (M, N),
(B.8)

DQFILL(M,N —2) = 0.25% py(M,N —2)p,(M, N) x QSUMPN (M, N),
(B.9)

DQFILL(M,N —1) = 0.75% p(M,N — 1)p,(M, N) x QSUMPN (M, N),
(B.10)

DQFILL(M,N +1) = 0.75% p,(M, N + 1)p,(M, N) x QSUMPN (M, N),
(B.11)

DQFILL(M,N +2) = 0.25% p,(M, N +2)p,(M, N) * QSUMPN (M, N),
(B.12)

gobo.dod

QSUMPN(M,N) = {0.75% [ps(M —1,N) + ps(M + 1,N)
+ps(M,N = 1) + ps(M,N + 1)]
+0.25  [ps(M — 2, N) + ps(M + 2, N)
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+ps(M, N = 2) + py(M, N + 2)]} 7 (B.13)
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10.25 % [ps(M — 2, N) + ps(M + 2, N)
+ps(M,N +2) + ps(M, N + 2)]}
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